
LISTA DE PEÇAS

QTYDESCRIPTION
PART

NUMBERITEM

1Extended tool post T-nut10021
1Toll Post10012
13/16" I.D. washer10043
1SHC Screw 10-32 - 1 1/2"10034
18Set screws M4 x 8mm10065
10Set screws M4 x 20mm10056
41/8" boring tool holder10107
101/8" Brass pin10078
15Set screws M5 x 8mm10089
43/8" boring tool holder102010
11/4" tool bit holder103011
2SHC Screw N8-32 x 5/8"104112
25/32" I.D. washer104213
1cutoff tool holder104014
03/8" tool bit holder1050

(Optional)
15

QCTP - QUICK CHANGE TOOL POST

Tryally Tech Tools

Tryally Tech Tool LTDA
Rua Domiciano Silva 8-29
Bauru - SP - Brazil
CEP 17014-030
Whatsapp  +55 14 997 722 010
tryally@tryally.com 
Internet www.tryally.com

P/N 1000

2

1

4

3

7

10

11

14

15

6

5 5

8

9

12

13

MADE IN BRAZIL


